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O e | BE | Ems 555 O oER | PR Ems S5
1|fR B (WB40) [S40.5.25 [k & & = K 36 I A (F29) |[H29.53 |88 A = — K 1,953,257,600
2 | i (1E41) [S41.4.13 |fa & EH Ok 3T R % (F30) [H30.4.30 (= E & 4 1,530,990,100
3 I A (H44) |S4456 A W & & K 38 | i 7 (41D |R1.5.1 It 2 I 1,713,484,400
4 |fR % (W60) [S60.4.29 [k & IF Of 2,118,225,500 39 | % (42 |R2.4.29 |#% -2 T 1,502,978,400
5 | kr o (WE61) [S61.6.11 (pT ¥ e M 3,035,869,900 40 |1 A (#3) |R3.4.29 | £ — B 1,913,581,600
6 |1 S (1H62) [S62.4.29 | f#E = 3,347,899,000 41 Il A (&4 |R451 |8 - BB 2,178,437,400
7|t B W (P63) [S63.5.1 | 53 ES 4,751,421,900 42 R % (&5 |R5.4.30 (8 A £ — I 2,095,923,300
8 | & CFD [H1.5.31 |fk % fF 7,305,122,500

9 il Ao (F2) |H2731 |88 A R C 9,635,882,400

10 |fiR B (F3) |H3.4.29 |/ H & = 8,278,018,200

11 |1k B (CF4Y) |H4.5.27 4@ | 3 7,760,528,900

12| B W (F5) [H5.4.29 & W 4T M 8,295,496,900

13 |fin % (F6) [H6.4.29 (B MW {5 & 7,713,256,400

14 Il A (ED |H7.5.24 |l ¥ b5} 7,577,806,500

15 | o (E8) [H8.6.12 [ I ] 6,604,300,600

16 |fiR % (F9) |H9.5.21 & i H 6,136,091,700

17 |1l B (F10) |H10.4.29 |& 1% = 5,688,547,100

18 |Gt B i GE1D |H11.4.21 | L = 5,106,203,300

19 |fin & (F12) [H12531 (1 @ B 4,751,700,700

20 I M (F13) |H13.5.31 | g = 4,679,652,900

21 | k (E14) |H14.5.22 (B B 18 R 3,874,167,300

22 | % (F15) [H15.5.21 A ! ik 3,158,308,000

23 |1l B CFE16) |H16.4.29 | m 15 df 3,172,775,300

24 | B W CF1D [H17.5.1  |A ] T 3,323,702,400

25 |fis & (F18) [H18.4.30 i M 15 2,580,315,700

26 |11 A (F19) |H19.4.30 |57 2 H& 3,169,299,000

27 | Fy (F20) |[H20.4.29 |/ & h, 2,767,106,000

28 | B (F21) [H21.4.29 [k H XK Ir 2,408,338,500

29 |1l 5 (F22) [H22.4.29 |# 2 = 2,100,077,700

30 I n o (F23) |H23.5.22 | i H 2,027,170,200

31\ B i (F24) |H24.4.30 |k Ir 1,971,795,600

32 | B (F25) |H25.4.29 [k X 1,722,221,800

33 1 0 (F26) |H26.4.29 | & M A 1,789,789,300

34 | o (F27) [H27.4.29 |l W & & 1,629,999,300

35 | i B (F28) |H285.1 & 1 A OF 1,534,590,100




